Dammam Community College
MATH 011  

Past Exam Questions  

 Section  2.4 and 2.5
1. An  equation of the line which is passing through the point 
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and perpendicular to the line 
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 is given by:

a. 
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b. 
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c. 
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d. 
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e. 
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2. Which of the following Statements is False ?
a. The slope of a horizontal line is zero.
b. The slope m of the line passing through the points 
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is given by:   
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c. The slope of a vertical line is undefined.
d. Parallel lines have same slopes. 
e. Two non-vertical lines are perpendicular if slopes are negative reciprocal of each other.
3. If the line 
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 is perpendicular to the line passing through 
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 is equal to: 
a) 
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c) 
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4. A line  M  is passing through the points 
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and 
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. Another line L is parallel to the line M and passing through the point 
[image: image21.wmf](1,7)

.  Find the following:

(a) The slope of  M.
(b) The slope of  L.

(c) The equation of  L  in the form of  
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Answers:   (a) 
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